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COJEPKAHME

. [lepeueHp KOMIIETEHLIM C YyKa3aHUEM 3TanoB MX (OPMHUPOBAHUS B
IpOIECCe OCBOEHHUSI 00pa30oBaTeIbHONU MPOrpaMMBI

. Onmucanne mnokasarened W KPUTEPHUEB OLCHMBAHMS KOMIIETCHIIMM Ha
Pa3IUYHBIX ATanax ux (OpMUPOBAHHUS, ONUCAHUE IIIKAJI OLIEHUBAHUS

. TutioBbIE KOHTPOJIbHBIC 3aJJaHUS WJIM MHBIE MaTepHuabl, HEOOXOIUMbIEC
JUTSl OLICHKW 3HAHWM, YMEHHI, HABBIKOB M (MJIM) ONBITA JACSTEIbHOCTH,
XapaKTEePU3YIOIIKUX dTanbl (OPMUPOBAHUS KOMIIETEHIIMNA B MpOIIECCe
OCBOCHHMS 00pa30BaTeIbHON TPOrPAMMBI

. Meroguueckue marepualbl, ONPENESIOININE TPOUEAYPbl OLIEHUBAHUS
3HAHUM, YMEHUW, HaBBIKOB H (WIM) ombITa ACATEIbHOCTH,
XapaKTEPU3YIOMIUX ATarbl HOPMUPOBAHUS KOMIIETCHIIHIA
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1. IlepeyeHb KOMIETEHIUI ¢ YKA3aHUEM 3TANOB UX

(GopMupoBaHuUs B Mpollecce 0CBOEHUS 00pa3oBaTeJIbHOM

MPOrpaMMblI
Kon n HaumeHnoBanne koMneTeHunu Oransl GOpMHUPOBAHUS
HaNMMeHOBaHHe
KOMIIeTeHIIUH
CIIK-1 Crnioco6eH 1oIb30BaThesi CUCTEMOM 1.Pabota Ha y4eOHBIX
JIMHTBUCTUUYECKUX 3HAHUH, BKIIIOUAIOUIEH B | 3aHATUAX
ce0st 3HaHHE OCHOBHBIX (DOHETHYECKUX, 2.CamocrosiTenbHas
JIEKCUYECKUX, TPAMMAaTHYECKUX, pabora
CJIOBOOOPA30BATEIIBHBIX SBJICHHUHA U
3aKOHOMEpHOCTEH (PyHKIIMOHUPOBAHUS
M3y4aeMOro HHOCTPAHHOTO SI3bIKa, €TO
(YHKIMOHAJIbHBIX Pa3HOBUIHOCTEN

2. Onucanue nNokKaszaresjieil 1 KpuTepHeB OLEHUBAHUS KOMIIeTeHIUii
HA pa3jIMYHBIX 3Tanax ux GopMupoBaHus, ONIMCAHUE LIKAJI
OLICHUBAHUA

OuennBaem YpoBeHnb 9tan GpopMUPOBAHUA Onucanue nokazaresei
ble c¢(popMUPOBAHH
KOMIIETeHIH 0CTH
u
CIIK -1 IToporossrit 1. Pabora Ha y4eOHBIX 3HaTh - Jekcuky B 06beme 110 4000 cnoB -

3aHATHAX 2.
CamocTosTenpHas pabota

3HaYeHUH (YCTOWIUBBIX CJIOBOCOUYCTAHMIA) JJIsI
MIPOAYKTUBHOTO (aKTHBHEIH cioBaps) u 10 2000
CJIOB - 3Ha4eHUH (ITaCCHUBHBIN CIOBAPB)
PELENTHBHOTO UCTIONB30BaHMUS,

YMeThb - IpaMOTHO TOBOPUTH B paMKax
MIPONACHHBIX TEM, YMETh BeCTH Oecermy (c
OTIOPOH Ha CJIOBapHBIi 3amac - 70 6000
JIEKCUIECKUX SITUHUIT);

obecrieunBarh PpazoBbIi (CO 3pUTEIEHON
OTIOPO¥) M TIOCIIEAOBATENBHBIN ABYCTOPOHHHUI
MepEeBOA HECTIEUALHOTO XapakTepa ¢ 00beMOM
OTJIEBHBIX BBICKA3BIBaHMH B 2-3 (hpa3bl




[IponBunyTHIN

1. Pabora Ha yueOHBIX
3aHATHUAX

2. CamocTosTENbHAS
pabota

3HaTh:

nekcuky B o0beMe a0 4000 croB-3HaUYeHUH
(ycToituuBBIX CJIOBOCOYETAHUI ) TSt
MIPOIYKTHBHOTO (aKTHUBHBIN ciioBapb) u A0 2000
CIIOB-3HAYECHUU (maccuBHBIN CJIOBapB)
PelenTUBHOTO WCTIOJIh30BAHMUS (uro
COOTBETCTBYET aKaJ[EeMUYECKOMY  YPOBHIO

MesKIyHapoaHoro 3k3amena IELTS );
OOIICTIPUHATHIC JIEMEHTHI PEUEBOTO 3THUKETA W
JIETIOBOM NEPENUCKHN HA aHTJIMHCKOM SI3bIKE;
OCHOBHBIC aKTyaJIbHbIC COKPAIICHUS U CUMBOJIHI,
MIPUHATHIC B IIEYaTHbBIX mMarepuaiax Ha
AHTJIMIICKOM SI3BIKE;

MIPUEMBI UCTIOJIB30BAHUA CJIOBapefI II€YaTHOIoO "
MEIMIHOTO  BapuUaHTOB, B TOM  YHUCIC
MOHOSI3BIYHBIX (TOJKOBBIX) CIIOBapeH.

OCHOBHBIC @OHCTH'I@CKI/IG, JICKCUYECCKHUC,
TrpaMMaTUYCCKUC, CJ'IOBOO6p8.30BaTeHBHBIe
SIBJICHUSA u 3aKOHOMCPHOCTHU

(YHKIMOHUPOBAHUS U3Yy4aeMOT0 WHOCTPAHHOTO
SI3bIKA, €T0 (PYHKIIMOHAIBHBIX PA3HOBHIHOCTEH
Ymern:

(hoHETHYECKH TPABHILHO YHMTATh, MPOU3HOCHUTH
3ByKH M 3BYKOCOUETaHHS B IIOTOKE pEYH,
BJIQJICTh OCHOBHBIMU THUIAMU WHTOHAIMH B
CBSA3HOU peuy;

mUcath ¢ cobroeHneM npasui opdorpaduu u
MyHKTYaI[1H;

IPaMOTHO TOBOPUTH B paMKaX IMPOUICHHBIX TEM,
yMeTh BecTH Oecemy (C OMopol Ha CIOBapHBIHA
3anac - 10 4000 JTeKCHYECKUX CIUHHII);
MMOHUMAaTh TPH YTEHWU C JIHCTa IICYaTHBIC
HeCTeIMaan3upOBaHHbIE MaTepuaibl (Tra3eTHBIC
Y HAyYHBIC CTAThH, U T.IL.);

[TOHUMATh TPU TPOCITYIIUBAHUN ayTCHTUIHBIE
HecTelaIu3upOBaHHbIE ayJuoMaTrepHasl
(IMaNnOTHYECKYI0 U MOHOJIOTHYECKYIO pPEYh H
T.IL.);

YUTAaTh  TIeYaTHbIE  Marepuaisl  00Iero
XapakrTepa npu TOYHOM BOCIIPUSTHU
rpadgudeckoro odpasza JIEKCHUECCKHX CIUHHUI] U
rpaMMaTHYCCKUX SBIICHHUIA,

MIPUMEHSATH MOJYIeHHBIE TEOPETUICCKIE 3HAHUS
Ha MpaKkTHKE B Mpouecce MNpodhecCHOHAIbHOM
NEeSTeNTPHOCTH, a  TaKkkKe B IpOIecce
MEXKYJIbTYPHOU KOMMYHUKAIIUH;

YMETh paboTaTh ¢ y4eOHOU, Xy/M0)KECTBCHHOW U

Hay4YHO-TIOMyJIApHON AHTTIUICKOM
JIUTEPATYPOK;
Ha OCHOBE MOJTyYEHHBIX 3HaHUHN

CaMOCTOATCIIPHO CTaBHUTh HCCJICI0BATCIBCKUC




3aJa4yd M HAaXOIWTh aJeKBaTHBIE METOABl HX
peleHus;

MIPUMEHSTh MOJTyYeHHBIE 3HAHHUS 0
3aKOHOMEPHOCTAX (YHKIMOHUPOBAHUS 5
(hYHKIIMOHATEHBIX PAa3HOBUAHOCTIX U3ydaeMOro
SI3bIKA 711 pelIeHus MPO(eCCHOHANBHBIX 3a/1a4
Baagern:

CIIOBapHBIM 3amacoM B o0beMe mpumepro 6000
€MHUIL;

YMEHUEM H3JIaraTh COACPHKAHUE IPOUYUTAHHOTO
WIM TPOCIYIIaHHOTO MaTepuana, a TakKke
aHAJM3UPOBATh HH(POPMAIHIO, TOJYyYEHHYIO B
xoJie TECTUPOBAaHHUSA B OTIpeAETIeHHbII
BPEMEHHOU IIPOMEXYTOK, onpeensieMblii
paMKaMH TECTHPOBaHMS;

OCHOBHBIMU cniocobamu BBIPAKEHUS
CEMaHTUYECKOH, KOMMYHUKAaTUBHOU u
CTPYKTYPHON PEEMCTBEHHOCTH MEX]Ty YaCTSIMH
BBICKa3bIBAHUS - KOMITO3ULIMOHHBIMU
3JeMEHTaMM TeKcTa (BBeZeHHEe, OCHOBHAs YacTh,
3aKioueHne), CBepX(pa3oBBIMUA EIMHCTBAMH,
MIpeI0OKEHUAMU;

OCHOBHBIMH OCOOCHHOCTSIMH  O(HITHAIEHOTO,
HEUTPaNbHOTO W HEO(UIMATBHOTO PETHUCTPOB
00IIIeHNS ;

aKaJIEMUYECKUMU HaBbIKaMH paboOThl C
IMMCHbMEHHBIMU W ay[uo MaTephajaMH O0OIIero
Xapakrepa.

CHCTEMOU JIMTHTBUCTUYECKUX 3HAHWM,

BKJIIOUaromeid B ce0sf 3HaHHE OCHOBHBIX
(hoHETHUYECKUX, JIEKCUUECKUX, TPAMMATHIECKHX,
CII0BOOOPa30BaTEIbHBIX SIBIICHUI u
3aKOHOMEPHOCTEN (DYHKITMOHUPOBAHUS
M3y4aeMOro  HMHOCTPAHHOIO  A3BbIKa,  €ro
(YHKIIMOHATBHBIX PA3HOBHIHOCTEH

3. TunoBbie KOHTPOJIbHbIE 3aJaHUSI WJIM UHbIE MATEPHAJIbI,
He00X0AUMBbIe ISl OLeHKH 3HAHUM, YMEHUI, HABBIKOB U (MJIH)
ONbITA AeATEJILHOCTH, XaPAKTEPU3YOIIMX ITAMbI
¢GopMuUpoBaHUS KOMIIETEHIMI B MPOLIECCEe OCBOCHUS
00pa3oBaTeJIbHON NPOrPpaMMbI

Bonpocsl kK ycTHOMY omnpocy:

1. We are becoming increasingly dependent on computers. They are used in businesses, hospitals, crime
detection and even to fly planes. What things will they be used for in future? Is this dependence on
computers a good thing or should we be more suspicious of their benefits?
2. In what ways has information technology changed work and working practices in the past 10 years?
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3.Some businesses now say that no one can smoke cigarettes in any of their offices. Some governments
have banned smoking in all public places. This is a good idea but it also takes away some of our
freedom. Do you agree or disagree? Give reasons.
4. Should the same laws which prohibit the sale and consumption of heroin be applied to tobacco?
5. To what extent is the wuse of animals in scientific research acceptable?
6. Forests are the lungs of the earth. Destriction of the world's forests amounts to death of the world we
currently know. To what extent do you agree or disagree?
7. To what extent should economic planing be influenced by the need of enviromental conservation?
8. Damage of the environment is an inevitable consequence of worldwide improvements in the standard
of living. Discuss.
9. The rising levels of congestion and air pollution found in most of the world cities can be attributed
directly to the rapidly increasing number of private cars in use. In order to reverse this decline in the
quality of life in cities, attempts must be made to encourage people to use their cars less and public
transport more. Discuss possible ways to encourage the use of public transport.
10. Education is the single most important factor in the development of a country. Do you agree?
11.What are factors which are related to academic success in high-school students?
12. Do the benefits of study abroad justify the difficulties? What advice would you offer to a
prospective student?
13. The idea of going overseas for university study is an exciting prospect for many people. But while it
may offer some advantages, it is probably better to stay home because of the difficulties a student
invevitably encounters living and studying in a different culture. To what extent do you agree or
disagree this statement? Give reasons for your answer.
14. Education is recognized as vital to the future of any society in today's world. Governments
thoughout the world should make education compulsory for all children between the ages of 5 and 15.
To what extent do you agree or disagree with this statement?
15. Children learn best by observing behavior of adults and copying it. To what extent do you agree or
disagree with this statement?

16. Should wealthy nations be required to share their wealth among poorer nations by providing such
things as food and education? Or is it a responsibility of the governments of poorer nations to look after
their citizens themselves?
17. Many lives are in danger when hastily erected buildings collapse because safety standards have been
sacrificed to hopes of a quick profit. To prevent disasters of this kind, governments should play a greater
role in setting and enforcing safety standards  for  building  constraction.
18. The dominance of black people in US sport is due to sociological rather than physiological factors.
Discuss.

19. In Britain, when someone gets old, they often go to live in a home with other old people where there
are nurses to look after them. Sometimes the government has to pay for this care. Who should be
responsible for our old people? Give reasons.
20. In some countries the average worker is obliged to retire at the age 50, while in others people can
work until they are 65 or 70. Meanwhile, we see some politicians enjoying power well into their
eighties. Clearly, there is little agreement on an appropriate retirement age. Until what age do you think
people should be encouraged to remain in paid employment? Give reasons for your answer.
21. Many people believe that women make better parents than men and that this is why they have the
greater role in raising children in most societies. Others claim that men are just as good as women at
parenting. Write an essay expressing your point of view. Give reasons for your answer.

TeMbl npe3eHTALMIA:
1. MynbsTumenuitHble pecypcehl Il OATOTOBKH K Cllaue SK3aMeHa 10 aHTJIMICKOMY SI3BIKY B
MexayHapoaHoM gopmare IELTS
2. Cucrema ouenuBanus moayneit IELTS
3.AHaan3 OCHOBHBIX OH.II/I6OK, JOMYHICHHBIX CTYACHTAMU I'PYIIILI B XO/1€ CaMOCTOSITENHLHOM pa6OTBI
C TeCTaMHU B pa3iciic <(Ay,[[I/Ip0BaHI/Ie>>.



4.AHanmu3 OCHOBHBIX OIUOOK, OMYIIEHHBIX CTYJCHTAMH IPYIIIBI B X0JIe CAMOCTOSATEIHHOM paboThI
C T€CTaMHU B pa3acic «Yrtenmney.

5.AHanu3 OCHOBHBIX OLIMOOK, AOMYILIEHHBIX CTYIEHTaMH IPYIIIIBI B X01€ CAMOCTOATENILHON paboThI
C TeCTaMHU B pas3ficiic «rOBOpCHI/Ie».

6.AHaTN3 OCHOBHBIX OIMHOOK, TOMYIIEHHBIX CTYJACHTAMH IPYIIbI B X0JI¢ CAMOCTOSTEIBHOW PabOoThI
C T€CTaMHU B pa3acic «ITucemoy.

7.OCHOBHBIE 3TaIlbl TECTHPOBAHMS 110 aHIIIMHACKOMY S3bIKY B (hOpMaTe MEKTYHAPOIHBIX
crangaproB (IELTS, TOEFL).

Oo0pa3en NpaKTHYECKOT0 3aJaHNS
Writing task 1

You should spend about 20 minutes on this task. Write a report for a university lecturer
describing the information in the table below. You should write at least 150 words.

Hours of leisure time per year in Someland
Teens | 20s | 30s | 405 | 50s G60s T0s +

Watching 1,200 | 700 | 400 | 500 | 60O 700 1,100
TVivideos

Socialising with 150 150 | 300 | 250 | 250 200 200
4 or less people

Socialising with | 350 350 | 5D | BO 25 25 25

4 or more
people
Individual 150 100 | 200 | 200 50 75 150
exercise
Group 450 350 | 200 | 150 50 0 0

exercise/sport

Cinema 100 75 50| 25 25 50 75

Your task
Complete the Task One report exercise above. Spend only 20 minutes.

Sample answer

The table shows how people in different age groups spend their leisure time in Someland
over the course of a year. It can be clearly seen that the amount of leisure time available
varies considerably across the age groups and that people of different age levels have very
different ways of spending their leisure time.

According to the figures, as people age in Someland their social lives reduce. Teenagers
and people in their twenties spend on average 500 hours per year on socialising and 350
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hours of that time is with a group of more than 4 people. Although the total hours of
socialising in their 30s, 40s, 50s and 60s is fairly constant (between 300-350), socialising
with more than 4 people drops dramatically to 50 hours in the 30s and 40s age groups and
only 25 from 50 years old. Group and individual exercise follow a similar pattern.

People of all ages spend a good part of their leisure time on entertainment such as
TV/video viewing and cinema. In both cases, teenagers and retired people spend around
twice as much time as those who are at working age. Home entertainment ranges from just
over a thousand hours for teenagers and retired people and an average of 600 hours for
everyone else. Cinema accounts for 100 hours of the teenagers and retired people’s leisure
time and 25-50 hours for the rest.

In conclusion we can see there is a significant trend towards solitary and smaller group
activities as people grow older and that teenagers and retired people spend a lot more time
on entertainment than those of working age do.

Writing task 2

You should spend about 40 minutes on this task.
Present a written argument to an educated reader with no specialist knowledge of the
following topic:

Television has had a significant influence on the culture of many societies. To what
extent would you say that television has positively or negatively affected the cultural
development of your society?

You should write at least 250 words

Use your own knowledge and experience and support your arguments with examples and
relevant evidence.

PP Sample answer

It has been around forty years since television was first introduced into Australian
households and people today still have mixed views on whether it has a positive or a
negative influence on the society.

Many people believe that television damages culture. It promotes the stronger cultures of
countries such as Britain and North America and weakens the cultures of less wealthy
countries. This is because the stronger, wealthier countries are able to assert their own
culture by producing more programs that are shown widely around the world. These
programs then influence people, particularly young people, in the countries where they are
shown.

Also, because television networks need to attract large audiences to secure their financial
9



survival, they must produce programs which are interesting to a broad range of people. In
Australia this range is very broad because we are a multicultural society and people of all
ages like to watch television. To interest all these different people, most television
programs are short in length, full of action and excitement, do not require much
intelligence or knowledge to understand, and follow universal themes common to all
cultures, such as love and crime. Television programs which concentrate on or develop
themes pertinent to one particular culture are not so successful because they interest a
smaller audience.

Nevertheless we much acknowledge that television does have some positive effects on the
cultures within a society as well. People who do not live within their own culture can, in a
limited way, access it through the multicultural station on the television. For example,
Aboriginal children who have grown up in white families, or migrants and international
students living in Australia, can watch programs from their own culture on the television.

In conclusion, | hold the view that television promotes and strengthens those cultures that
are wealthy and influential while it weakens the cultures that are already in a weakened
position.

Bomnpocsl K 3a4eTy ¢ OLEHKOM.

1. Bompocsl /s MepBOii YaCTH 3a4eTa ¢ OLEHKOIi:
[lepBass uvacTh mpeacTaBiasieT COOOM  KpaTKO€  HMHTEPBBIO, MPOBOAUMOE

9K3aMEHATOPOM.
* Your spare time
* Your studies
* Your family / childhood
* Food / restaurants / meals
* Your hobbies / Interests
* Your country / home town
* Your job
* Your accommodation friends in your free time?
* Your room
* An achievement you are proud of
* The Internet
* Dreams
* Animals
» Newspapers/magazines
* Neighbours/neighbourhoods
* Letters and emails
10



» The weather
* Plants and flowers
* Fruit and vegetables
* Radio and television
BTOpaSI HacThb MPpCACTaBIIACT c000¥1 MOHOJIOTMYECKOE BBICKA3bIBAHME HA 3aJaHHYIO
TeMy. PekoMeHIyemMast mpoaoKUTEIbHOCTD BBICKA3bIBAHUS — 3 MHHYTHI,
MHUHUMAJbHAA — 2 MHUHYTBI.
2. Bompochbl AJ151 BTOPOi YacTH 3a4eTa ¢ OLEHKOM:
A book you have read
A person you admire
An achievement you’re proud of
A toy you played with
A party you attended
A festival you’ve been to
A trip you’ve been on
A film you’ve watched
A place you would like to visit
Your favourite form of transport
Your favourite style of dress
Your best friend
A sport you enjoy playing-
A song you like listening to
A plan you have made
A conversation you had recently that changed your way of thinking
The type of weather you particularly like
Your school days
A television programme you watch
A piece of jewellery
A garden/park you enjoy visiting
An old building you remember
A course you are interested in

A family member you like to be with
Tpetbe 3ananue 3aueTa ¢ OLEHKON MPpeACTaBISIET CO00M IBYCTOPOHHIOIO TUCKYCCHIO
IPOJOJIKUTENBHOCTBIO 3-4 MUHYTHI. DK3aMEHATOP 3a4aT BONMPOCH], (HOPMYIUPOBKA
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KOTOPBIX HOCHT IMPOOJIEMHBII XapakTep U moOyXk1aeT SK3aMEHYeMOTr0 BbICKa3bIBATh U
000CHOBBIBaTh CBOE MHEHUE, COTJIAMIATHCS WU OTIPOBEPTaTh O3BYYCHHYIO TOUKY
3peHHUS.

3.Bonpocsl Uil TPpeTheil 4acTH 3a4eTa ¢ OLECHKOM

* The media.

* Journalism

 Advertising.

 Music and culture.

* The protection of wild animals.

* The environment.

* Education.

* Human relations, communication.

* Population growth.

* Charities / International Aid.

* The nature of human happiness.

* The relationship between employers and employees.
* The importance of free time in our modem world.

* The importance of making plans and having goals.

* Immigration.

* The importance of history.

*Social media

* Teaching as one of the most rewarding professions.

HpnMeprle 3alaHUsI TJIsI TECTUPOBaHUA

ACADEMIC READING FOR IELTS TEST

QUESTIONS 1-14
You are advised to spend about 15 minutes on Questions 1-14 which refer to Reading

Passage 1 below.

READING PASSAGE 1
FINDING THE LOST FREEDOM

1. The private car is assumed to have widened our horizons and increased our
mobility. When we consider our children's mobility, they can be driven to more places
(and more distant places) than they could visit without access to a motor vehicle.
However, allowing our cities to be dominated by cars has progressively eroded
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children's independent mobility. Children have lost much of their freedom to explore
their own neighbourhood or city without adult supervision. In recent surveys, when
parents in some cities were asked about their own childhood experiences, the majority
remembered having more, or far more, opportunities for going out on their own,
compared with their own children today. They had more freedom to explore their own
environment.

2. Children's independent access to their local streets may be important for their own
personal, mental and psychological development. Allowing them to get to know their
own neighbourhood and community gives them a 'sense of place'. This depends on
‘active exploration’, which is not provided for when children are passengers in cars.
(Such children may see more, but they learn less.) Not only is it important that
children be able to get to local play areas by themselves, but walking and cycling
journeys to school and to other destinations provide genuine play activities in
themselves.

3. There are very significant time and money costs for parents associated with
transporting their children to school, sport and to other locations. Research in the
United Kingdom estimated that this cost, in 1990, was between 10 billion and 20
billio n pounds. (A 1P P G)

4. The reduction in children's freedom may also contribute to a weakening of the
sense of local community. As fewer children and adults use the streets as pedestrians,
these streets become less sociable places. There is less opportunity for children and
adults to have the spontaneous of community. This in itself may exacerbate fears
associated with assault and molestation of children, because there are fewer adults
available who know their neighbours' children, and who can look out for their safety.

5. The extra traffic involved in transporting children results in increased traffic
congestion, pollution and accident risk. As our roads become more dangerous, more

parents drive their children to more places, thus contributing to increase d levels of
danger for the remaining pedestrians. Anyone who has experienced either the reduced
volume of traffic in peak hour during school holidays, or the traffic jams near schools
at the end of a school day, will not need convincing about these points. Thus, there are
also important environmental implications of children's loss of freedom.

6. As individuals, parents strive to provide the best upbringing they can for their
children. However, in doing so, (e.g. by driving their children to sport, school or
recreation) parents may be contributing to a more dangerous environment for children
generally. The idea that 'streets are for cars and back yards and playgrounds are for
children' is a strongly held belief, and parents have little choice as individuals but to
keep their children off the streets if they want to protect their safety.

7. In many parts of Dutch cities, and some traffic calmed precincts in Germany,
13



residential streets are now places where cars must give way to pedestrians. In these
areas, residents are accepting the view that the function of streets is not solely to
provide mobility for cars. Streets may also be for social interaction, walking, cycling
and playing. One of the most important aspects of these European cities, in terms of
giving cities back to children, has been a range of 'traffic calming' initiatives, aimed at
reducing the volume and speed of traffic. These initiatives have had complex
interactive effects, leading to a sense that children have been able to 'recapture' their
local neighbourhood, and more importantly, that they have been able to do this in
safety. Recent research has demonstrated that children in many German cities have
significantly higher levels of freedom to travel to places in their own neighbourhood
or city than children in other cities in the world. (ai p p g . co m)
8. Modifying cities in order to enhance children's freedom will not only benefit
children. Such cities will become more environmentally sustainable, as well as more
sociable and more livable for all city residents. Perhaps it will be our concern for our
children's welfare that convinces us that we need to challenge the dominance of the
car in our cities.

Questions 1-5
Read statements 1 -5 which relate to Paragraphs 1,2, and 3 of the reading passage.
Answer T, if the statement is true, F if the statement is false, or NI if there is no
information given in the passage. Write your answers in the spaces numbered 1-5 on
the answer sheet. One has been done for you as an example.

Example: The private car has made people more mobile. Answer:

The private car has helped children have more opportunities to learn.
Children are more independent today than they used to be.

Walking and cycling to school allows children to learn more.
Children usually walk or cycle to school.

o~ w0 D

Parents save time and money by driving children to school.

Questions 6-9
In Paragraphs 4 and 5, there are FOUR problems stated. These problems, numbered
as questions 6-9, are listed below. Each of these problems has a cause, listed A-G.
Find the correct cause for each of the problems and write the corresponding letter A-
G, in the spaces numbered 6 -9 on the answer sheet. One has been done for you as an
example.

There are more causes than problems so you will not use all of them

and you may use any cause more than once.
14



Problems

Example: low sense of community feeling

streets become less sociable
fewer chances for meeting friends
fears of danger for children

> w bR

higher accident risk

Questions 10-14

Causes

Answer: F
A few adults know local children

B fewer people use the streets

C increased pollution

D streets are less friendly

E less traffic in school holidays F
reduced freedom for children G more
children driven to school
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Questions 10 -14 are statement beginnings which represent information given in
Paragraphs 6, 7 and 8. In the box below, there are some statement endings numbered i-
X. Choose the correct ending for each statement. Write your answers i-x, in the spaces
numbered 10 -14 on the answer sheet. One has been done for you as an example.

There are more statement endings than you will need.
Example: By driving their children to school, parents help create ... Answer : i

List

> w e

5
6.
7
8

Children should play ...

In some German towns, pedestrians have right of way ...
Streets should also be used for ...

Reducing the amount of traffic and the speed is ...

o~ 0w DN

All people who live in the city will benefit if cities are ...

of statement endings

... a dangerous environment.
... modified.
... on residential streets.
... modifying
cities. v ...
neighbourhoods.
vi ... socialising.

... In backyards.

... for cars.

... traffic calming.
. ... residential

Questions 15-28

READING PASSAGE 2

RISING
SEA
Paragraph 1. INCREASED TEMPERATURES

The average air temperature at the surface of the earth has risen this century, as has

the temperature of ocean surface waters. Because water expands as it heats, a
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warmer ocean means higher sea levels. We cannot say definitely that the
temperature rises are due to the greenhouse effect; the heating may be part of a
‘natural’ variability over a long time-scale that we have not yet recognized in our
short 100 years of recording. However, assuming the build up of greenhouse gases is
responsible, and that the warming will continue, scientists — and inhabitants of low -
lying coastal areas — would like to know the extent of future sea level rises. (A1 P
PG .com)

Paragraph 2.

Calculating this is not easy. Models used for the purpose have treated the ocean as
passive, stationary and one-dimensional. Scientists have assumed that heat simply
diffused into the sea from the atmosphere. Using basic physical laws, they then
predict how much a known volume of water would expand for a given increase in
temperature. But the oceans are not one-dime nsional, and recent work by
oceanographers, using a new model which takes into account a number of subtle
facets of the sea — including vast and complex ocean currents — suggests that the
rise in sea level may be less than some earlier estimates had predicted.

Paragraph 3.

An international forum on climate change, in 1986, produced figures for likely sea-
level rises of 20 cms and 1.4 m, corresponding to atmospheric temperature increases
of 1.5 and 4.5C respectively. Some scientists estimate that the ocean warming
resulting from those temperature increases by the year 2050 would raise the sea level
by between 10 cms and 40 cms. This model only takes into account the
temperature

effect on the oceans; it does not consider changes in sea level brought about by the
melting of ice sheets and glaciers, and changes in groundwater storage. When we
add on estimates of these, we arrive at figures for total sea-level rises of 15 cm and
70 cm respectively.

Paragraph 4.

It’s not easy trying to model accurately the enormous complexities of the ever-
changing oceans, with their great volume, massive currents and sensitively to the
influence of land masses and the atmosphere. For example, consider how heat enters
the ocean. Does it just ‘diffuse’ from the warmer air vertically into the water, and
heat only the surface layer of the sea? (Warm water is less dense than cold, so it would
not spread downwards). Conventional models of sea -level rise have considered that
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this the only method, but measurements have shown that the rate of heat transfer into
the ocean by vertical diffusion is far lower in practice than the figures that many
modelers have adopted.

Paragraph 5.

Much of the early work, for simplicity, ignored the fact that water in the oceans
moves in three dimensions. By movement, of course, scientists don’t mean waves,
which are too small individually to consider, but rather movement of vast volumes
of

water in huge currents. To understand the importance of this, we now need to
consider another process — advection. Imagine smoke rising from a chimney. On a
still day it will slowly spread out in all directions by means of diffusion. With a
strong directional wind, however, it will all shift downwind, this process is
advection — the transport of properties (notably heat and salinity in the ocean) by the
movement of bodies of air or water, rather than by conduction or diffusion.

Paragraph 6.

Massive ocean currents called gyres do the moving. These currents have far more
capacity to store heat than does the atmosphere. Indeed, just the top 3 m of the ocean
contains more heat than the whole of the atmosphere. The origin of gyres lies in the
fact that more heat from the Sun reaches the Equator than the Poles, and naturally
heat tends to move from the former to the latter. War m air rises at the Equator, and
draws more air beneath it in the form of winds (the “Trade Winds”) that, together
with other air movements, provide the main force driving the ocean currents.

Paragraph 7.

Water itself is heated at the Equator and moves poleward, twisted by the Earth’s
rotation and affected by the positions of the continents. The resultant broadly
circular movements between about 10 and 40 North and South are clockwise in the
Southern Hemisphere. They flow towards the east at mid latitudes in the equatorial
region.

They then flow towards the Poles, along the eastern sides of continents, as warm
currents. When two different masses of water meet, one will move beneath the other,

depending on their relative densities in the subduction process. The densities are
determined by temperature and salinity. the convergence of water of different
densities from the Equator and the Poles deep in the oceans causes continuous
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subduction. This means that water moves vertically as well as horizontally. Cold
water from the Poles travels as depth — it is denser than warm water — until it
emerges at the surface in another part of the world in the form of a cold current.

Paragraph 8.
HOW THE GREEN HOUSE EFFECT WILL CHANGE OCEAN TEMPERATURES

Ocean currents, in three dimensions, form a giant ‘conveyor belt’, distributing heat
from the thin surface layer into the interior of the oceans and around the globe.
Water may take decades to circulate in these 3-D gyres in the lop kilometer of the
ocean, and centuries in the deep water. With the increased atmospheric temperatures
due to the greenhouse effect, the oceans conveyor belt will carry more heat into the
interior. This subduction moves heat around far more effectively than simple
diffusion. Because warm water expands more than cold when it is heated, scientists
had presumed that the sea level would rise unevenly around the globe. It is now
believed that these inequalities cannot persist, as winds will act to continuously
spread out the water expansion. Of course, of global warming changes the strength
and distribution of the winds, then this ‘evening-out’ process may not occur, and the
sea level could rise more in some areas than others.

Questions 15-20
There are 8 paragraphs numbered 1-8 in Reading Passage 2. The first paragraph and
the last paragraph have been given headings. From the list below numbered A-I,
choose a suitable heading for the remaining 6 paragraphs. Write your answers A-l, in
the spaces numbered 15-20 on the answer sheet.

There are more headings than paragraphs, so you will not use all the
headings.

List of headings
A THE GYRE PRINCIPLE

B THE GREENHOUSE EFFECT

C HOW OCEAN WATERS MOVE

D STATISTICAL EVIDENCE

E THE ADVECTION PRINCIPLE

F DIFFUSION VERSUS ADVECTION

G FIGURING THE SEA LEVEL CHANGES
H ESTIMATED FIGURES

| THE DIFFUSION MODEL
19



Paragraph 2
Paragraph 3
Paragraph 4
Paragraph 5
Paragraph 6

o ok~ wpd e

Paragraph 7

Questions 21 and 22
Answer questions 21 and 22 by selecting the correct answer to complete each
sentence according to the information given in the reading passage. Write your
answers A, B, C or D in the spaces numbered 21 and 22 on the answer sheet.

1. Scientists do not know for sure why the air and surface of ocean
temperatures are rising because:
A there is too much variability

B there is not enough variability
C they have not been recording these temperatures for enough time
D the changes have only been noticed for 100 years

2. New research leads scientists to believe that:
A the oceans are less complex

B the oceans are more complex
C the oceans will rise more than expected D
the oceans will rise less than expected

Question 23

Look at the following list of factors A-F and select THREE which are mentioned in

the reading passage which may contribute to the rising ocean levels. Write the

THREE corresponding letters A-F, in the space numbered 23 on the answer sheet.

List of factors
A thermal expansion

B melting ice
C increased air temperature
D higher rainfall

E changes in the water table
F increased ocean movement
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Questions 24-28

Read each of the following statements, 24-28. According to the information in the
reading passage, if the statement is true, write T, if it is false, write F and if there is
no information about the statement in the reading passage, write N1. Write your
answers in the spaces numbered 24 -28 on the answer sheet.

24, The surface layer of the oceans is warmed by the atmosphere.
25. Advection of water changes heat and salt levels.

26. A gyre holds less heat than there is in the atmosphere.

27. The process of subduction depends on the water density.

28. The sea level is expected to rise evenly over the Earth's surface

QUESTIONS 29 -40
You are advised to spend about 20 minutes on Questions 29-40 which refer to

Reading Passage 3 below.

READING PASSAGE 3
NEW RULES EQR THE PAPER GAME

1. Computerised data storage and electronic mail were to have heralded the paperless
office. But, contrary to expectations, paper consumption throughout the world shows
no sign of abating. In fact, consumption, especially of printing and writing papers,
continues to increase. World demand for paper and board is now expected to grow
faster than the general economic growth in the next 15 years. Strong demand will be
underpinned by the growing industrialization of South-East Asia, the re-emergence of
paper packaging, greater use of facsimile machines and photocopiers, and the
popularity of direct-mail advertising. It is possible that by 2007, world paper and
board demand will reach 455 million tons, compared with 241 million tons in 1991.
2. The pulp and paper industry has not been badly affected by the electronic
technologies that promised a paperless society. But what has radically altered the
industry's structure is pressure from another front—a more environmentally conscious
society driving an irreversible move towards cleaner industrial production. The
environmental consequences of antiquated pulp mill practices and technologies had
marked this industry as one in need of reform. Graphic descriptions of deformed fish
and thinning populations, particularly in the Baltic Sea where old pulp mills had
discharged untreated effluents for 100 years, have disturbed the international
community.

3. Until the 1950s, it was common for pulp mills and other industries to discharge
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untreated effluent into rivers and seas. The environmental effects were at the time
either not understood, or regarded as an acceptable cost of economic prosperity in an
increasingly import-oriented world economy. But greater environmental awareness
has spurred a fundamental change in attitude in the community, in government and in
industry itself.

4. Since the early 1980s, most of the world -scale pulp mills in Scandinavia and North
America have modernised their operations, outlaying substantial amounts to improve
production methods. Changes in mill design and processes have been aimed at
minimising the environmental effects of effluent discharge while at the same
timeproducing pulp with the whiteness and strength demanded by the
international market. The environmental impetus is taking this industry even
further, with the focus now on developing processes that may even eliminate
waste-water discharges. But the ghost of the old mills continues to haunt the
industry today. In Europe, companies face a flood of environment-related
legislation. In Germany, companies are now being held responsible for the
waste they create.

5. Pulp is the porridge-like mass of plant fibres from which paper is made. Paper
makers choose the type of plant fibre and the processing methods, depending on what
the end product will be used for: whether it is a sturdy packing box, a smooth sheet of
writing paper or a fragile tissue. In wood, which is the source of about 90% of the
world's paper production, fibres are bound together by lignin, which gives the
unbleached pulp a brown colour. The pulping stage separates the wood into fibres so
they are suitable for paper making. Pulping can be done by mechanical grinding, or by
chemical treatment in which woodchips are 'cooked' with chemicals, or by a
combination of both methods.

6. Kraft pulping is the most widely used chemical process for producing pulp with the
strength required by the high-quality paper market. It is now usually carried out in a
continuous process in a large vessel called a digester. Woodchips are fed from a pile
into the top of the digester. In the digester, the chips are cooked in a solution called
white liquor, nosed of caustic soda (sodium hydroxide) sodium sulphide. The chips
are cooked at high temperatures of up to 170° ? for up to three hours. The pulp is then
washed and rate from the spent cooking liquor which has turned dark and is now
appropriately ailed black liquor. An important feature of kraft pulping is a chemical
recovery system which recycles about 95% of the cooking chemicals and produces
more than enough energy to run the mill. In a series of steps involving a furnace and
tanks, some of the black liquor is transformed into energy, while some is regenerated
into the or iginal white cooking liquor. The recovery system is an integral part of

production in the pulp and paper industry. The pulp that comes out has little lignin left
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in the fibres. Bleaching removes the last remaining lignin and brightens the pulp.
Most modern mills have modified their pulping processes to remove as much of the
lignin as possible before the pulp moves to the bleaching stage.

Questions 29-32
Below is a list of possible factors, A-G, which will influence the amount of paper
being used in the future. From the list, choose FOUR factors which are mentioned in
Paragraph 1 of the reading passage. Write your answers A-G, in the spaces
numbered 29 -32 on the answer sheet.

List of factors
A more people read newspapers

B increased use of paper bags
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C increased book production for education
D wider use of sign post advertising

E increased use of fax machines

F wider use of leaflet advertising

G greater use of duplicating machines

Questions 33-35
The following THREE statements are summaries of Paragraphs 2, 3 and 4 respectively.
However, they are incomplete. Complete each of the statements using NO MORE THAN
THREE WORDS FROM THE TEXT. Write your answers in the spaces numbered 33 -35 on
the answer sheet.

3. The international community has begun to demand ...

34. In the past, the environmental effects of pulp mill practices, were
probably a price to pay for ...

35. Some paper mills have recently modernised their mill design in order to
decrease...

Questions 36-40
Below is a list of possible steps in the kraft process of turning wood chips into paper. They are
numbered 1-8. Only FIVE of the steps listed below are mentioned in the passage. The steps
are not listed in the correct order. Decide which steps are mentioned and write th em in the
correct order. Write the appropriate number for each step in the correct order in the spaces
numbered 36-40 on the answer sheet.

the chips are cooked

the fibres are bound by lignin

the pulp is bleached

woodchips are put into a pile

the pulp is dried

the pulp is removed from the black liquor
the chips are put into the white liquor
the pulp is washed
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6. B
7. BJA

9.vii
10.iii
11.vi
12.ix
13.ii
14.
15.
16.1
17.
18.
19.
20.
21.
22. B&C&E (in any order)
23. NI

24.
25.
26.
27.
28.
29.
30.
31.
32. cle aner industrial production
33. economic prosperity

I o

OO 0O > m

O M mw T T

34, envirionmental effects

3. 4
3. 7
37. 1
38. 8
39. 6

\ 3ananus ¢ 1-39 nepenocsarcss B BJIAHK OTBETOB (A; B; C; D)
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4. MeToguyecKkue MaTepuaJibl, ONpeessiionue npoueaypbl OlleHNBAHNS
3HAHUI, yMEHH i, HABBIKOB U (WJIN) ONbITA IeAITeJILHOCTH, XapaKTePU3y0IIHX

3Tanbl (OPMHUPOBAHUSA KOMIIETEHIM M

Bua pa6otsl

IIaTudaaLHaga MIKaJaa

Ixaja oneHUBaHUA

1. Ilocemenue
MPaKTUYECKUX 3aHATUM

«OTIUYHO»

5 6am0B, ecau cryment nocetua 90% ot Beex
3aHATUN

«Xopouo»

4 6aJ1a, eciiM CTYAEHT MOCETHII KaK MUHUMYM
70% oT Bcex 3aHATUH

«YIIOBJIETBOPUTENBHO»

3 0asuia, eciu CTYAEHT TTOCETHI KaK MUHHMYM
50%o0T BCcex 3aHATHI

«HCYAOBJICTBOPUTCIBHO»

2 0ana, ecnu W3 BCeX 3aHATHH CTYIEHT
mocetunt 30% wu MeHbIIEe

2. YCTHBIN ompoc

«OTIIUYHO»

6 0anmoB KoMmMyHUKaTWBHAs 3a/iada YCIICIITHO
pemieHa,  coIepXKaHHUE  PACKPBITO  IOJIHO.
JleMOHCTpuUpyeTCcsl yMEHUE ONUCHIBATH UMEBLINE
MECTO HJIU BBIMBIIIJIICHHBIC CO6I)ITI/I$[, IIPOABJIAA
npu 3TOM TBOPYECKUH TIOTXO u
OpUTHHANBHOCTh MbllIIeHua. OTBET mepeaaeT
YyBCTBA ® HMomuu oOydatomierocs. OTBer
JEMOHCTPUpYEeT OOoraThlii JISKCHYECKHH 3arac,
HEOOXOMUMBIA ISl PACKPBITHS TEMbI, TOYHBIN
BEIOOpD CJIIOB W  aJeKBaTHOE  BIAJICHUC
JIEGKCUYECKOHW codyeTaeMOCThio. OTBET MOJIHBIMN,
KOPPEKTHBIA C T.3. JIEKCUKO-TPaMMaTHYECKON H
CTUJIMCTUYECKON TOYHOCTH.

«Xopomo»

5 0aJ1J10B KommyHuKaTuBHast 3amaya
BBIMONIHEHA.  [IpPOEMOHCTPUPOBAHO  yMEHHUE
OIIKMCBIBATH UMEBIIHE MECTO UM BHIMBIIUIEHHEIE
COOBITHS; TPOSIBISAETCS  TBOPUECKHHA TOIXOJ.
CroXeT MOHSATCH, HO MAJOMHTEpPEeCceH. MOXeT He
XBaTaTh JUYHOCTHOI'O OTHOUICHUSA K TEMC B CI/IJ'Iy
OTCYTCTBHUSI JIMYHOTO OIBITA WM HEXBATKU
JIEKCUYECKOTO «Oaraxka.

«YOOBJICTBOPUTCIILHO»

4 f6amna KomMmyHuKaTHBHas 3ajadya B ILIEJIOM
pemieHa, OTHAKO  CONCpPKAHHUE  PACKPBITO
HEIOCTATOYHO IIOJIHO, MMEIOTCA OTJCIbHbIC
HapyIICHHUS IIEIOCTHOCTH COJICPXKAHUS PaccKasa.
Her TBOpYeckoro moaxoma; OTPaAHUYCHHOCTH
3ay4E€HHBIMH TEKCTOBBIMHU IITAMITAMHU.

«CHEYIOBJIETBOPHUTECIIBHO»

3 6amsa KoMMyHWKaTHBHAs 3a/lada BBITIOJTHEHA
gactnaHo. ConepkaHWe BBICKa3bIBaHUS HE
IIOJIHOCTBIO COOTBETCTBYCT 3alaHHBIM
nmapamerpam. CroKeT He BCerga IMOHSATEH,
TPUBHAJICH, HE WMEET IUHAMUKU pa3BUTHI. B
IIEJIOM JIEKCHYECKHE CPEICTBA COOTBETCTBYIOT
3aJaHHOH TeMe, OJHAKO HMMEIOTCS HETOYHOCTH
(ommbOku) B BHIOOpPE CIOB M JIEKCHUECKOM
COYCTaeMOCTH, yYaIlWicsa  JomyckaeT  5-6
omméOK B BBEIOOpPE CJIOB U JIGKCHYCCKOU
COYETaeMOCTH, KOTOpPBIE HE  3aTPyIHSIOT
MMOHUMaHUs Ha cIyX. Vcnonp3yeTrcs B 0CHOBHOM
CTaHJapTHAsA, OJHOOOpa3Has JIEKCHKA.

3. BrimmoniHeHue
MPAaKTUYECKUX 3aJaHUI

19 6anaoB, ecnu M3 BceX 3aJaHUN CTYIEHT

«OTIMIHO» BBIMOJIHKUI Kak MUHIMYM 80%.
16 6anioB, ecnm U3 BCEX 3aJaHUN CTYAEHT
«XOpoLo» BHINIOHII 79% - 60%
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13 0anuoB, ecnu M3 BCeX 3aJaHUN CTYIEHT
«yIOBIIETBOPUTEIBHOY BBIIONHII 59% - 40%
CHEVIIOBICTBODHTCIEHON 10 6anioB, ecn U3 BCEX 3aJaHUN CTYACHT
YA p oImorHuI 0%-39%
30 OayutoB, eciid W3 BCeX 3aJaHU CTYIEHT
«OTIUYHO»
HaOpan 100-81 GaimioB TecTa-sK3aMeHa
25 0aJJIoB, eCI¥d W3 BCEX 3aJaHUil CTYICHT
4. Bomonmieiiie «XOpoto» Habpan kak MuauMmyM 80- 61 Ganios 7
KOHTPOJIBHOTO p ™
TECTHPOBAHHS 20 6amnoB, ecnM W3 BCeX 3aJaHUM CTYICHT
«YAOBJIICTBOPUTCIILHO» BBIONTHIWI Ha 60-41 6aioB.
15 0aajoB, ecnmu W3 BCEX 3aJaHUN CTYIEHT
«HEYIOBIIETBOPUTEIILHO) BBINOSTHKI npaBmiIbHO 20% 1 MeHee (40 GamtoB
1 MEHee).
«OTIIMYHO) 60 6as10B
o «XOPOIIOY 50 6annoB
5.3a4eT ¢ OlEeHKOU
«YOOBJIETBOPUTEIILHO» 40 6a;s10B
«HEYTOBIETBOPUTEILHOY 30 6asu10B

CBogHasi mKaJjia oueHNBaHUsA MO JucuuILIuHe « Kypc o01ess3b1k0BO# MOJATOTOBKH K
MEXIYHAPOIHOMY 3K3aMeHYy (110 MePBOMY MHOCTPAHHOMY SI3BIKY) (AaHIIHHCKHiT

SI3BIK)»
(VKazano odwee MaKCUMAaibHoe KOauuecmso 0an08 OJisi KaxicOol OYeHKlU)
Buj pa6orbi «OTJIMYHO «XOPOIO» «yAoBJICTBOPH (HEYLOBJICTBOPH
TeJIbHO» TeJbHO»
Ilocemenne
MIPaKTHUYECKHUX 5 4 3 2
3aHATHN
YCTHBIE OTBETHI 6 5 4 3
Beinonnenue
MIPAKTHYECKUX 19 16 13 10
3alaHuN
Beinonnenue
KOHTPOJILHOTO 30 25 20 15
TECTHPOBAHUS
3aueT ¢ OLIEHKOU 40 30 20 10
Hroro 100 80 60 40

[Ipu ouileHKE BBHIMOIHEHUS! KOHTPOJIBHOIO0 TECTHPOBAHMSA YUHUTHIBAIOTCS:
1. CoGroneHre BpeMEHHBIX HOPM Ha BhIoIHeHUE TecTta — 120 munyT. CTpyKTypa
CTaHJIAPTHOTO MEXIYHAPOJHOTO TecTa-dk3ameHa |ELTS: acriekTsl, BpeMeHHbIe TapaMeTphl:
1) Aynuposanwue (40 Bonpocos, 40 MHHYT)
2) Yrenue (40 BompocoB, 40 MHHYT)
3) Mucemo (2 3amanusi, KpeaTHBHOE MUCHMO 40 MHUHYT)
2. CreneHb ycBOCHMS OJIOKA JTMHI'BUCTUYECKHUX JUCLMUIUIMH, CBI3aHHBIX C AHITIMMCKUM SI3BIKOM
U KYJIBTYPOI.
3. YpoBeHb 3HaHMA (PAKTUYECKOTO MaTepuaia B 00bEME MPOrpaMMbl : yMEHHE BHIOPATh BApUAHT
U OTBETUTh Ha BOIIPOCHI TECTA.
4. JIuHrBUCTUYECKAS U JIMHIBOCTPAHOBEIUECKAsl IPYIULIUS CTYEHTA.
5. IlpaBuiIbHOCTH OPOPMIICHHUSI PEUEBBIX BBICKA3bIBAaHUN (JIEKCUKO-TPAMMATHUYECKUH KapKac).
6. PemieHne KOMMYHUKAaTUBHOM 3aJaud, JIOTMKA, CTPYKTypa U TIPAMOTHOCTb H3JI0XKEHUS (B
acniekre Writing «ITucemo»).
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7. YMeHHME BBIPAa3UTh CBOIO MBICIb Ha $SI3bIKE C KOPPEKTHBIM JIEKCHKO-TPaMMaTH4eCKHM
opopmienuem (B acniekre “Writing”  «ITucemo»).
8. YMenue cnenarb 00001CHNE, BEIBOJIEI.
9. OOw1ast 5pynuLus CTyACHTA B 00JACTH MEXKYIBTYPHOH KOMMYHHKAIINH.
Kpurtepun oneHnBaHusi yCTHOI0 OTBETa Ha 3a4eTe ¢ OLEHKOMH

HpI/I BBICTABJIICHUU OLICHKW YYMUTBLIBACTCA YPOBCHBb BJIAJICHUSA SI3BIKOBOU KOMHeTeHHHefI
(s3bIKOBasi KOPPEKTHOCTh, JICKCMYECKOE U CTPYKTypHOE pasHooOpasue, (HOHETHUECKOe
opopMIIeHHE peYH), pPEUYeBON KOMIETECHIMEH (BlIaJeHUE pa3IUYHBIMH BUJIAMU JHCKYypCa,
KOMHO3I/II_[I/IGI\/JI pc€uu, CTCIICHL CBA3HOCTH, apr'YMCHTHPOBAHHOCTH, BJIAACHUC YMCHHUAMU PCUCBOIO
B3aMMOJICHCTBUS), KOTHUTUBHOW KOMIIETEHITUEH, COIMOIUHTBUCTUYECKON M COITMOKYIBTYPHOU
KOMITETEHITMEN (a/IeKBaTHOCTh BBHIOOpA SI3BIKOBOTO M PEYEBOr0 Marepuana ¢ Y4eTOM BCeX
KOMITOHEHTOB KYJIBTYPHO-MapKUPOBAaHHOM CHUTyallMud OOIICHMs, 3HAHHWE KYIbTYPHBIX peasuii
CTPaHbI U3y4aeMOT'0 SI3bIKA).

Onenka «oraumuHo» (40-31 GasmoB) BBICTABISCTCS CTYIEHTY, KOTOPBIM H3jIaracT MaTrepual
II0CICA0BaTCIbHO, T'paMOTHO u GCI‘J'IO, O6H3.py>KI/IBa$I MMPpaBUJIbHOC HNCIIOJIb30BAHUEC
ophodnUecKuX, TEKCUIECKUX, TPAMMATUYECKUX M CTHIIMCTUYECKUX HOPM U3y4aeMoro si3bIKa U
yMEEeT pacCyXJaTh M y4acTBOBATh B JIUCKYCCHU TIO ONIPECIICHHON TeMe, apryMEHTHPOBATH CBOIO
TOYKY 3pEHHsI, TPUBOAUTH MPUMEPHI, WIIIOCTPUPYIOIIME U TOATBEpXkKAatolue ee (Ipu 3TOM B
OTBETE JIOIyCcKaeTcsl He 0oJiee ABYX MOTHBIX OIMUOOK, HE BIHSIONINX HA CMBICJIOBOE COJICPKAHUE
peun).

Omnenka «xopomo» (30-21 0Gasmi) CTaBUTCS, €CIM BBICKA3bIBAHUE CTYICHTA COOTBETCTBYET
MPEJIOKEHHBIM ISl TUAJIOTMYECKOT0O M MOHOJOTMYECKOTO BBICKAa3bIBAaHUS TeMaM, HO
JIOITYCKAIOTCSl HETOYHOCTH B apTYMEHTHPOBAHUU M B NMPUMEpPaxX H/WIU CTYICHT OOHApyKHUBaeT
YMEHHE paccyXlIaTb IO ONpEeAeNeHHOW TeMe, HO JOMYCKAloTCS HETOYHOCTH B
apryMEHTUPOBAaHMHM CBOETO MHEHHsA. Pedb CTylIeHTa COOTBETCTBYET OP(OIMHUIECCKHUM,
JEKCUYECKUM, TpaMMaTUYeCKUM U CTHWIMCTUYECKMM HOPMaM H3ydyaeMoro s3blka, HO
AOIMYCKAroTCsA CAMHUYHBIC OIIMOKHU B MMPONU3HOIICHNWH, JICKCUKC HWJIN TI'PaMMATHKE, KOTOPLIC
CaMOCTOSITEJIbHO HCHPABISIOTCA CTYIEHTOM TOCTE 3aMedyaHus dK3aMeHaropa (He Oomee 3-4
MOJIHBIX OLIMOOK, HE3HAYUTEIBHO BIMSIONINX Ha CMBICIIOBOE COIEPKAHHUE PEUN)

OueHka «ynoBaeTBOpPHTENBHO» (20-11 0asIoB) CTaBUTCS, €CIM CTYACHT IMOKA3bIBACT 3HAHHE U
MMOHMMAaHHUE OCHOBHBIX IOJIOKEHUIN TeM OuseTa, HO OOHapyKMBaeT HEIOCTATOUHOE TTOHUMaHUE
COlIep)KaHUSl JaHHOW TeMbl M ee MNpoOJeMaTHKW; OOHApYXKHMBAE€T HEJO0CTATOYHOE YMEHHE
BBIPA3UTh U apryMEHTUPOBATh CBOE€ MHEHHE IO MPEAJIOKEHHON MpolieMe; ero peub N300mIyeT
rpaMMaTH4eCKHUMHU U JIEKCHYeCKUMHU omOkaMu (5-10 moaHbIX OmMOOK, B TOM YUCIIE BEAYIIUX K
HCKaKEHHUIO CMbICJIa BHICKA3bIBAHUS ).

Ouenka «HeynoBieTBOpUTeabHO» (10-0 OannoB) cTaBUTCS, €CIM CTYIEHT OOHApyKHMBaeT
HEYMEHHE pacCyXJaTh W apryMEHTHPOBAaTh CBOIO TOUKY 3PCHHUS W/WIM HETIOHMMAaHHUE TEM,
U3JI0KEHHBIX B OWIIeTe, AOMYyCKaeT IpyOble /WM MHOro4yucieHHble omnOku ( Oonee 10TH) B
YCTHOI pedH, BeqyIIne K NCKaKeHUIO CMbICIIA BEICKA3bIBAHMS.

o1
Ixkana oneHNBaHUA OTBETA HA 3a4eTe C OLEeHKOH .
(yl('cB(ZHO MAKCUMAIbHOE KOJ1-60 6(1]1/206 68 UMOo2060M oueHueaHuu)
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